ORDERING INSTRUCTIONS

HI-PAL CYLINDER/WITH SOLENOID VALVE

J1OHA series

420, ¢25, $32, 440

(J1 G[HA| 2)

b ®

Model No. of Mounting Bracket

Bore (mm)

420

425

432

¢ 40

Foot mount bracket

J120-L

J120-L

J132-L

Ji40-L

Flange mount bracket

J120-A

J120-A

J132-A

J140-A

Trunnion mount bracket

J120-R

J120-R

J132-R

Ji40-R

Bracket for R

J120-BC

J120-BC

J132-BC

J140-BC

Erkd s d i v

(OMagnet ®Type of switch
G | Built-inmagnet | Cylinder with switch available | Mo symbol| No switch
AF AX101
@Action AG | AX105 | DCE~30V
2 Double-acting, single rod AH | A111 AC5~120V
Rod extends at power on. Ad AX115
~ 4 Double-acting, single rod AE AX195 DSE—-50V f:g
. Rod retracts at power on. AK AXTIA AC5~120V %
Al AX11B DCE~30V 3
@Bore (mm) JA | ZC201A | AC85~115V| &
ég Z gg JB | ZC201B | DCs5~28V
2 | e J6 T 2cz058 | D102V
40 $40 S | SR405 | ACBO~220V
#Cushion BE | AX201
No symbol| Damper cushion (Standard) SE %g? 5
B Both-side air cushion BJ AXDDE DCH~30V %
(®Stroke (mm) CE | AX211 2
Refer to Standard Strokes (Page B5). CF | Ax215 g
i)
(BDustproof cover :}J}i gggggg DC10~28V g
No symicl] No dustproof cover provided {Standard) JL | ZCzs3A
J__ | With bellows {Nylon tarpaulin) M | zcosag | PC10~30V
JN With bellows (Chloroprens} ]
JK_| With bellows (CONEX) @Number of switch (@voltage
CONEX : Registered trademark of Teijin Ltd. No symbol} No switch 100 | AG100/110V
" . 2 With 2 units 200 | AC200/220v
R @Mounting 1 With 1 unit D24 DC24V
E ggﬁi ]EE;SIC ) {OBracket at rod end @Wiring
A Rod side flange No symbol| No bracket L i Lead wire
R Rod side trunnion Y With rod end clevis SP | Connector with lead wire
I With rod end eye UP | Connector with lead wire

{Note) Y : Provided with pin

{@Special shape of rod end

@Bracket [No symbol] Standard |
No symbel| No bracket (Note) Refer to Pages 37 and 38.
B With bracket

(Note) Models with bracket : R alone

Model No. of Packing Kit
Bore {mm) Packing kit
¢ 20 J120-PS
$ 25 J125-PS
$32 J132-P8
$ 40 J140-PS

{Note) Packing kit : Rod packing alone

KURODA

64




HI-PAL CYLINDER/WITH SOLENOID VALVE J1 OH A series
$20, 425, 432, $40

SPECIFICATIONS
Action Unit Double-acting
Fluid Non-lubricated afr
Pressure range MPa 0.2~0.7
Proof pressure MPa 1.05
Temperature range © 5~50
Piston speed range mm/s 50~500
. Damper cushion (Standard)
Cushion . .
Air cushion {Cusiom-mads)
Piston strako all Below 250mm : ¥30
iston stroke allowance
mm 251~000mm : +1:4
. Nose, Both-foot, Rod-side fiangs,
Mounting . .
Rod side trunnion
Solenoid valve PCS245 .
Rated voltage vV AC100/110, 200/220 DC24 Q
Insulation grade JISB
Permissible vacktage fluctuation Y% AC:+10 DGC: f}g
Frequency Hz 50/80
50Hz| VA (100/200) 2.5
t Hold
T T 60Hz| VA (100/2C0) 2.0
@ 2| AC
23 50Hz| VA (100/200) 2.9
< Start
60Hz VA {100/200) 2.5
Power consumption W 1.8

{Note) *When setting a switch at the intermediate position, set the maximum cylinder
speed to less than 300 mm/s by reason of the relation with the response
speed of relays etc.

-Use the cylinder within a temperature rangs where it is not frozen.

STANDARD STROKE Uniterom)
Standard stroke
Bore Max, stroke
15 [ 26 | 30 | 50 | 756 | 100 (125 | 150 | 175 { 200 | 250 | 300 | 350 | 400 | 450 | 500
$20 oclo|joc|Oo|C Oo|lCc|Oo|C|O!—-|=I|=|=-1=]-= 900
$25 oOlo|oC|O|jC|O|O|O|O|lO|O|O|—-|—-]~-]- 900
¢32 oJo|Cc|Oo|Cc|Oo|O|OlO|lO|lO|lOlO|lO]| -] - 900
$40 O|C|OoO|O|O|JO|O|lO|OlOC|O|lCc|O|lCc|lOl|O 200

KURODA



@

HI-PAL CYLINDER/WITH SOLENOID VALVE J1(OHA series

MODEL WITH SWITC H/For detailed specifications, handling precautions and mounting methed of switches, réfer to Page 80.

*AX Type Switch *ZC Type Switch *SR Type Switch
Cord type Connector type
e
LIST OF SWITCHES
Type| SymPolof. jLoad voltage), Load current - \Max. swiching). Protective | oy b0 Cornestion
i --gwitch range - [ range capacty circuit .
[AF] AX101
AF] Not provided LED
[AG]AX105 | DC5~30v .
(Red LED lights 0.3 mm? 2-core
[AH]AX111 | AC5~120V | DG:5~40mA | DGC:1.5W rovded | UPEONY |G 5g ) 1.5m
. mim
[AJ]AX115 AC:5~20mA | AC:2VA Cord direstion : Axial |2
DC5~50V
[AE|AX125 ACE~ 120V Not provided| Not provided 5m
= ~
[&]
S |[AK]AX11A | AC5~120V| 5~20mA 2VA , LED {Red LED | 4-pin connector 0.5m
@ Provided |, N )
] AX11B | DCs~20V B~40mA 1.5W lights up at ON.) | Cord direction : Axial | 0.5m
2 Miniature
© |[JA]ZC201AIACBE~115Y| AC:2~25mA 1m
202018 DC5~28Y |DC: 0.1~40mA — Not provided| Not provided 0.2 mm2 2-core am relay
o M e, m . 1
:0. PLC
OD ¢ 3 mm
[JC]zGC205A A | Im
DC10~28V | DC:5~40mA —  |Not provided| =P e LED 1 corg direction : Axial
[JD]ZC205B lights up at ON.) 3m
) Neon lamp (Red | 0.5 mm? 2-core, OD 48 mm
[S |SR405 {ACB0~220v| 2~300mA 30VA Provided lights up &t OFF )| Cord diecton: Al 5m
[BE]AX201 LED (Red LED \ 1.5m
[BF | AX205 lights up at ON.} | 0-3 mm® 2-core, 5m
DC5~30V 5~40mA — Provided OD ¢ 4 mm
[CE] AX211 ED ight < 4 1.5m
= LED (Duallight : | Gory girection : Axial |
-% [CF AX215 Red/green) 5m
w e
BH | AX221 Max. 200mA 2 g 1.5m | Ministure relay
2 DC5~30V | NPN open — Provided | o0 (Red LED | 0.3mm* 3-ore, 0D g4 rum PLC
B AX225 collgctor output lights up at ON.) | Cord direction : Axial 5m | IC cirouit
o
5 |[J]zc230A , LED {Lights | 0.2mm? 2-core, 0D¢3mm| 1M
DC10~28V |  5~40mA - Provided ! .
? |K]zcesos| " ronee up at ON.) | Cord drection : Axil am M:”'a’fure
relay
JL]ZC253A ; 25 im
DC4.5~28V| MAX100MA | — Provided | -ED {Liohis | 02mn? 3-core, 0D mm PLC
ZG2538 upat ON.) | Cord cirection : Axal 3m

{Note) »When using inductive load (relay etc.) in a switch without a protective circuit, be surs to fit a protective circuit (SK-100) to the load.
-AX type switch can be mounted on other type than above-mentioned. Refer to Spacifications for Switches at tha end of this

catalog.

MINIMUM STROKE FOR AIR CYLINDER WITH SWITCH

{Unit : mmmy)
Number of mounted switch
5 With 1 unit With 2 units
ore
Reed swiich Solid-state switch Reed switch Sdlid-state switch

AX ZC201 | ZC205 SR AX ZC AX ZC SR AX Fde:
620, ¢25 15

10 10 15 10 i0 15 15 35 20 10
$32, 40 10

KURODA

66




67

HI-PAL CYLINDER/WITH SOLENOID VALVE J1(OHA series

CONSTRUCTIONS
iz ®B@ 19?) 9 ® (/é)nw]e
4
]
hiinngs
‘1\ /
nlpps :
0\ s 1 /
l >3
()
PARTS LIST
No. Description Material Nao. Description Material
O | Cylinder tubs Stainless steel { | Piston nut Rolled steel for general structure
& | Rod cover Aluminium alloy { | Piston washer Cold rolled steel
@ ! Head cover Aluminium alloy (@ | Snap ring Spring steel
@ | Piston A Aluminium alloy (@ |Red end nut Rolled stes! for general structure
® | Piston B Aluminiurn alloy {9 | Nose nut Rolled steel for gensral structure
#20~32 : Stainlass steel (Hard chromium plating) Solenoid valve
& | Piston rod 440 Garbon stesl for machine structure | @2 | Metering valve
{Hard chromium plating) Tube Synthetic resins
@ |Bushing Dry bearing Instant fitting Nitryl rubber
Rod packing hold-down plate| Cold rofled steel & | Piston packing Nitryl rubber
@ | Cushion pad Urethane rubber @ | Rod packing Nitryl rubber Q
Magnet — @ [ O-ting for pistonrod | Nitryl rubber

KURODA



HI-PAL CYLINDER/WITH SOLENOID VALVE J1(OHA series

DIMENSIONS

(Unit ; pam)

Nose mounting/N

50.5 23
L16
Nose nut
Width across ‘ ] v
flats Be P é A ©
MB
KK = i & IF
%JJ—
— — T ;
S s = 3 A
0 Vit .
ST T 7
s &
(¥ \MB 3 /
Rad end RH YP, EE R ide)
rit Wit vE LK H-+Stroke N e B2
01058 A WE LL+Stroke VH
flatg B ZC+Stroke
Bore A B1 B2 D E1 E2 EB1 | EB2 | EH H h J K KK
¢20 | 20{20) 13 30 o} $28 | 438 28 36 17.3 31 5 30 14 M 8x1.25
$25 |22(22)| 17 30 8 ¢31 1 38| 29 36 17.3 | 35 8 30 | 145 [M10X1.5
$32 | 2222)| 19 32 10 $38 | 440 | 36 38 185 | 40 7 30 | 15 M12x¢1.25
$40 |2424)| 22 41 12 46 | 450 | 44 48 | 238 | 42 g 30 | 15 M14x1.5
Bare LL MB MM RH VF VH WF YP ZC EE | EQ1 | EQ2
$20 | 75 M22x15 | ¢ 8 7 18 13 24 19 [ 112 Rcla | 35 26
$25 | 795 | M22X1.5 | ¢10 7 18 13 28 19 1205 Rc¥s | 35 26
$32 | 85 M24x2 412 8 20 16 30 19 (131 Rcls | 405 | 30
$40 | 87 M30x2 414 9 22 16 32 19 135 Rcs | 465 | 34

{Note) Bracketed figures in size A columns are thread lengths.

KURODA

68




69

HI-PAL CYLINDER/WITH SOLENOID VALVE J1OHA series

DIMENSIONS

{Unit : mm)

Both-foot mounting/L

50.5 23
Nose nut WF 16
Y Width across | - o
flats Bz . \éi r— IR < [l
Width tats D MB| R I
\ across flats o L1
KK \ | ) o
'ftj = = LS -
< % Rod end ut - J
end :
o Wicth across et _EE (Rear side) |
I A flats B | ,
A AY SK4-Stroke
2x2-46.8 UA K F+Siroke
L LL+-Stroke
8 SA+Stroke
Bore A B1 B2 D EH H h J K KK LL MB MM
$20 | 20 (20) 13 30 6 17.3 3 5 30 14 M 8x1.25 | 75 Mz22x1.5 ¢ 8
$25 |22{29 17 30 17.3 35 8 30 145 | M10X1.5 79.5 | M22x1.5 ¢ 10
$32 | 22(22) 19 32 10 18.5 40 7 30 15 M12x1.25 | 85 M24x2 ¢12
$40 |24 (24)| 22 41 12 23.8 42 8 30 15 M14X1.5 a7 M30x2 ¢ 14
Bore RH VF WF YP EE AH AT AV L R SA SK UA
¢ 20 7 16 24 19 Rcls 25 3.2 12.8 16 40 | 107 49.4 55
¢25 7 i8 28 19 Rcls 25 3.2 | 128 16 40 |111.5] 53.9 55
¢ 32 8 20 30 19 Rcla 32 4 21 25 45 | 135 43 60
¢40 9 22 32 19 Rcis 36 4 21 25 50 |137 45 65

(Note) Bracketed figures in size A columns are thread lengths.

KURODA



9,

HI-PAL CYLINDER/WITH SOLENOID VALVE J1(OHA series

DIMENSIONS {Unit : mm)
Rod side flange mounting/A
é 20, é o5 50.5 123
( : \l;lvo&s% nut WE
idth across -
fiats B2 VF ‘! HIB 3
wih M) NBH R
\ d- KK _ across flats D ]
Bt \_JTT%I#
VAN RN 1a s )LE
OHHEOH T 2 4 £
1 [ L_.. 1:’
SNLNES N - / Jﬁ
: L]
- 2968 o end nut EE (Rear side) ve | [\me
UF Width across h K H+-Stroke J
flats Bs A 4 ZX+Stroke VH
i
4-46.6
Bore A B1 B2 D EH H h J K KK MB MM | RH
¢20 | 200200 13 30 6 | 173 | 31 5 30 | 14 M 8x1.25 | M22X15 | ¢ 8 7
$25 |22(22)| 7 30 8 | 73| 35 6 30 | 14.5 | M10OX1.5 M22x1.5 | 10 7
$32 | 22(22)| 19 32 10 | =B85 | 40 7 30 | 15 M12X1.25 | M24x2 ¢12 8
$40 | 2424y | 22 41 12 [ 238 | 42 8 30 | 15 MT14x1.5 M30x2 ¢ 14 9
Bore VF VH WF | YP EE EF ER TF UF ZX
¢20 16 13 24 19 | Rc | 38 - 50 65 | 75
¢ 25 18 13 28 19 | Re¥ | 38 - 50 65 | 79.5
$32 20 16 30 19 | Rcwe | 47 33 58 72 | 85
440 22 16 32 19 [ Rcls | 51 36 70 84 | 87
(Note) Bracketed figures in size A columns are thread lengths.

KURODA




HI-PAL CYLINDER/WITH SOLENOID VALVE J1(OHA series

DIMENSIONS

{Unit : mm)
Rod side trunnion mounting/R
50.5 23
16
\r}jvogehm W{:IF & J <
idth across )
AatsBy | + *f 4|> I
D T W
8 KK _\ ----------- =2
e ; £ apfe N )<T= &
2 3 5 TEFE O .
(= ,L. |
ks . /I N
Rod end nut )
Width across EE {Rear side) YP \@
TL ™ TL| flats B h H K H-+Stroke J
UM A BD XJ+Stroke VH .
Bore A B1 B2 D EH H h J K KK MB MM [ RH
¢20 (200200 | 13 30 6 | 17.3 | 31 5 30 | 14 M 8x1.256 | M22x15 | ¢ 8 7
$256 |22(22)| 17 30 8§ 173 | 35 6 30 | 145 | M1OX1.5 M22X1.5 | 10 7
$32 2222 19 32 10 | 185 | 40 7 30 | 15 M12x1.25 | M24x2 ¢12 8
$40 | 24(24) | 22 41 12 | 238 | 42 8 30 | 15 M14x1.5 M30x2 $14 Q

Bare VE | VH | wF | YP EE ED TD TL ™ TU UM Xd
$20 16 13 24 19 | Re¥s | 10 | ¢ 88 8 36 32 52 | 80
$25 18 13 28 19 | Reks | 10 | ¢ 82 8 36 32 52 | 84.5
¢ 32 20 16 30 19 | Res | 12 | 41022 | 10 44 | 36 64 | 9t

¢ 40 22 16 32 19 Rcla 14 $12e8 | {2 50 44 74 Q4
(Note) Bracketed figures in size A columns are thread lengths.

& KURODA



HI-PAL CYLINDER/WITH SOLENOID VALVE J1(OHA series

DIMENSIONS ACCORDING TO WIRING SPECIFICATIONS FOR SOLENOID VALVES  (unit : mm)

L type SP type UP type
505 03 5006 60 0
o 16 47.6
3
NE il
- ] + € : © M|
© ' d,} R > = ERE el |é
o - | R
Zl B Y= @
= 2 i —
_ :‘7‘ ; -]=" D W
N - | L]

Bore hi h2 h3

$20 | 428 | 224 | 409
$25 | 428 | 22.4 | 49.9
$32 | 44 238 | 5141
$40 | 483 | 28.9 | 564

KURODA

72




73

HI-PAL CYLINDER/WITH SOLENOID VALVE J1(OHA series

SWITCH SET POSITION

{Unit : mmy)
| R 8
Switch Switch . — & D;
| T
! P e —
= 5 A .
(] ;
B3 I _ 7 - -H-4£ :“f
N H—= %}i 1
o
&
RG Uxi1 30 30 UxX2
o
RF RG
Bore
AXtype | ZC type | SR type | AX type | ZC type | SR type
¢20 19 18.5 25 25 20 33
425 29 18 56 07 29 35 @The above drawing shows an air cylindar with
AX type switch.
¢ 32 24 19.5 27 31 26 38
$40 27 21.5 29 35 30 43
Uxi Ux2
Bore ZC230 ZC230
AX1LIC]AX200| zC201 | ZC205 ZGo53 AX1O0OAax20] Z2C201 | ZC205 70253
¢20 7 7 9.5 6 8 7 7 7.5 4 6
¢ 25 9 9 1" 7.5 9.5 8 8 10 6.5 8.5
$32 10 i0 13.5 10 12 10 10 12.5 9 11
¢ 40 12 12 13.5 10 12 12 i2 15.5 11 13
@
HYSTERESIS AND RESPONSE RANGE OF SWITCHES (Unit : mm)
Reed switch Solid-state switch
Bore Ax100] Zc2M ZC205 SR Axerd 20230 ZC253
Fesponse Hysteresis Response Hysteresis Response Hysteresis Responss Hysteresis Response Hysteresis Response Hysteresis Response Hysteresis
range range range range range range range
$#20 | 4~9 6~8 [0.5~1.5 6~9 1~4
p 5~9 2~5
_#25 | Below 1 Below 2 Below 2 Below 1| 2~4 |Below0.5| 2~4 |Below0.5
#32 | 5~90 6~11 6~9 (Below 2| 7~10 0t
¢ 40 6~10 2B

KURODA





